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How does paragraph 3 connect to paragraph 2?
A It summarises what is said in paragraph 2.
B It supports what is said in paragraph 2.

C It weakens what is said in paragraph 2.

Welk nieuw punt over ‘invading species’ wil de schrijver maken met het
voorbeeld van ‘The Indian Silverleaf whitefly’ (alinea 4)7?
Geef antwoord in het Nederlands.

What is the main point made in paragraph 57?

A Efforts to interfere in nature might go wrong.

B Farmers are in favour of biological pest control.
C Itis impossible to domesticate wild animals.

D The harm that insects can do is underestimated.

‘the habit of rabbits to reproduce like, well, rabbits’ (alinea 6)
Wat maakt de toevoeging ‘well’ in deze zin duidelijk?

Het gaat hier om een

A met tegenzin gegeven bevestiging.

B moeilijk uit te leggen argument.

Cc voor de hand liggend punt.

Tekst 6

13

14

What becomes clear from paragraph 1?

A National security organisations are trying to get more female
employees.

B The actress for a leading role in the next Bond movie was found on a
website for mothers.

Cc The British producers of spy movies have launched a website to
attract women.

D Until recently women were forbidden to perform dangerous tasks for
the government.

Which of the following is mentioned as part of ‘plans to rebalance the
intelligence workforce’ in paragraph 27

A hiring better educated people

B making it easier to combine work and parental responsibilities

Cc offering job opportunities to the relatives of present employees

D rewarding practical experience
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1p 15 ‘an untapped recruitment pool’ (paragraph 3)
What becomes clear about the people in this ‘recruitment pool’ in
paragraph 37?
A They are considered to be less stress-resistant than male applicants.
B They are thought to lack the ambition for a career at high level.
Cc They have been employed for the wrong reasons until recently.
D They have been overlooked by those responsible for hiring employees.

1p 16  Welk sterk punt hebben oudere vrouwen en moeders te bieden, volgens
alinea 37
Geef antwoord in het Nederlands.

2p 17 Geef van elke van de volgende beweringen aan of deze wel of niet in

overeenstemming is met wat Gisela Stuart (alinea 4) zegt.

Omcirkel ‘wel’ of ‘niet’ in de uitwerkbijlage.

1 Het is gemakkelijker om goed personeel te vinden als je het haalt uit
verschillende groepen.

2 In alle lagen van een organisatie moeten vrouwen werken.

3 Een organisatie kan alleen veranderen als de leidinggevenden bereid
zijn daarvoor te zorgen.

1p 18 How does the writer conclude the article in paragraph 5?
A Dby anticipating on unacceptable social changes in the near future
B by emphasising her personal opinion on the matter discussed
C Dby linking a lighthearted news item to the topic of the text
D by making fun of people who publicly support feminist ideals

Tekst 7

1p 19 What is the point made in paragraph 1?
A Most children prefer watching television to doing something else.
B Parents put children in front of the television to keep them calm.
Cc There are too many children’s programmes available nowadays.
D Young children see more moving electronic images than is advisable.

1p 20 Kies bij _20 in alinea 2 het juiste antwoord uit de gegeven
mogelijkheden.
A As aresult of
B In spite of
C Instead of
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